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zeroCoupon[interest_, timeToMaturity_] = g interest timeToMaturity

e—interest timeToMaturity

durZeroCoupon[interest_, timeToMaturity_] =

D[zeroCoupon[interest, timeTocMaturity], interest]

-int t timeToMaturit : :
_a interest timeToMaturi ytlmeToMaturlty

convZeroCoupon[interest timeToMaturity_] =

-

D[durZercCoupon[interest, timeToMaturity], interest]

-int t timeToMaturit . : 2
& interest timeToMaturi ytlmeToMaturlty

matchingMix =
Solve[{a zeroCoupon[xr, s] + b zeroCoupon|[xr, 1] == zeroCoupon[r, m],
a durZercCoupon|r, s] + b durZercoCoupon[r, 1] == durZeroCoupon[xr, ml}, {a, b}]
e TS (1 —m) el T ™I (_m+s)
{{aa——',ba— }}
-1l+s 1-s

kortVekt = a /. matchingMix[1]
langVekt = b /. matchingMix[1]

e™ITE (1 _m)

-1l+s
elT™T (_m+ s)
1-s

Simplify[kortVekt convZeroCoupon|[r, s] + langVekt convZeroCoupon[r, 1] -

convZeroCoupon[r, m]]

e™*(1l-m) (m-s)

s = 5

m= 10
1l=15

r = Log[l.03]
kortVekt
langVekt
5

10

15
0.0295588
0.431304
0.579637
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Plot[kortVekt zeroCoupon[rVar, 2] + langVekt zeroCoupon[xVar, 1] -
zeroCoupon[xVar, m], {xVar, Log[l.01"], Log[l1.0571}]
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